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The sum of coefficient of even powers of x in

(w + \/:133 — 1)6 + (w — \/x?’ — 1)6 is: (A) 23 (B) 24
(C) 18 (D) 21
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D 3
Let sin(a — §) = 13 and cos(a + ) = B then
63
tan(2a) is equal to (Here a, B € (O, %)) (A) 76 (B)

6L 65
16()16()9
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The line x+y=mn,n &l makes intercepts with
T’ + y2 — 16. Then the sum of square of all possible
intercepts. (A) 242 (B) 105 (C) 210 (D) 484
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sin(%) | . :
. dz is euqal to (A) z + 2sinx + sin2x + C
n (%)
(B) x + 2cosx + sin2x + C (C)
x — 2sinz + sin2x + C (D) x + 2sinx — sin2z + C
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The area bounded by the curve
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59 57
y§w2+3x,0§y§4,0§a:§3,is<A>F(B)T
59 57

(©) 3 5

(D)
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\'lf you are born in India then you are citizen of India\'\'
contrapositive of this statement is (A) If you are born in India
then you are not citizen of India (B) If you are not citizen of
ndia then you are not born in India (C) If you are citizen of

ndia then you are not born in India (D) If you are citizen of

ndia then you are born in India
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sinxx COS & 1 0

B) —— (C) ——
B) 33 ©) 454

Let A = [cosa —sma] and A% = {O _1} (A) O

D)
()16
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Shortest distance between the curve y2 = x — 2 and
8-9364317 | ¢y = x IS (A) greater than 4 (B) less than 2 (C) greater than
3 (D) greater than 2
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sin’ x

li = (A)v2(B)2(C)4 (D)4v2
A AT (A)v2(B)2(C)4 (D) 4v/2
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How many 9 digit no. can be formed using the digit

1,1,2,2,2,2,3,4, 4 such that code no. occures at even
palces (A) 160 (B) 175 (C) 180 (D) 220
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1 _
let g(z) =lnz and f(z)= (1 n izzzz) then

N E

/ g9(f(x))dz is equal to (A) In1 (B) In2 (C) lne (D)

In4
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let 2. 0C,+52C +820C, + 7. +62.2 Cy.

Then sum of this series is (A) 16.2%% (B) 8.2°! (C) 8.2°! (D)
16.2%
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Sum of the natural number between 100 and 200 whose
HCF with 91 should be more than (A) 1121 (B) 3210 (C)
3121 (D) 1520
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If mean and variance of 7 variates are 8 and 16 respectively
and five of them are 2,4,10,12,14 then find the product of
remaining two variates (A) 49 (B) 48 (C) 45 (D) 40

® Watch Free Video Solution on Doubtnut

15 - 9364325

JEE MAINS 08 APRIL 2019 - PAPER 1 SHIFT 1 -
MEMORY BASED - MATHS

f @ and B are the roots of z° — 2z + 2 = 0 then find
n
Q
minimum value of n such that (E) =1(A)4 (B)3(C) 2

(D) 5
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Solution of differential equation
d
(:1;2 + 1)2d—y + 2:3(332 + 1)y =1 is (A)
T
tan !
Y = 2n - C (B) y:tan_la:+C' (C)
T 1

y(:z;2 + 1) — tan" lx + C’(D)y(tan_lx) =z 4+ C
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1 — 2
if f(x) = log2<1 n x) then f( ] +a:w2) is equal to

L

(A) f(z) (B) 2f(z) (C) —2f(z) (D) (f(=))’
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Given that A C B then identify the correct statement (A)
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P(A/B)=(4) () P(A/B)<P(A) (C)
P(A/B) > P(A) D) P(A/B) = P(A) — P(B)
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Find the value of ¢ for which the following equations have

non trivial solutions cx —y—2=0 —cx +y—cz =0

w+y—cw:MM%ﬁﬂ—HQ2®m
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cot ! (\/§ COS & — Sin w) dy
then — is

cosz + \/3sinz dx

Let 2y =

equalto (A)  — — (B) z + — (C) 2z — — (D) 2z — —
qu T T+ = T T
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Let S7 is set of minima and S, is set of maxima for the
curve  y = 9z* +122° — 3622 — 25  then  (A)

Si={—-2 —1},8 = {0} (B)
Si{ — 2,1}, S, = {0} (C)
S1={-2,1}:5={-1} (D)

S, ={—2,2), 8 = {0}
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Let f''(x) >0 and
o(x) = f(x) + f(2 — x),x € (0,2) be a function then
the function ¢(x) is (A) increasing in (0,1) and decreasing
(1,2) (B) decreasing in (0, 1) and increasing (1,2) (C)
increasing in (0, 2) (D) decreasing in (0,2)
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Let vertices of the triangle ABC is A(0,0), B(0,1) and
C'(x,y) and perimeter is 4 then the locus of C is : (A)
9z% + 8y?> + 8y =16 (B) 8z% + 9y + 9y = 16 (C)
922 + 8y? + 8y = 16 (D) 8z* + 9y — 9z = 16
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Let the equation of a line is 3x 4+ 5y = 15 and a point P on
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this line is equidistant from x and y axis. In which quadrant
the point P lies? (A) 1%¢ (B) 3" (C) 4" (D) none of these
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The perpendicular distance of point (2, — 1,4) from the

a3—|—3_y_2_z|-bt A) (2,3) (B) (3,4
0 — = — 7 lles between (A) (2,3) (B) (3:4)

(C) (4,5) (D) (1,2)

line
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If a plane passes through intersection of planes
20 —y—4 =0 and y+ 22 =4 = 0 and alos passes
through the point (1, 1, 0) then the equation plane is (A)

r—y—2=00B)2c—2=0C)xz+2z—1=0 (D)
x—z—1=0
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if |vZ — 2|+ /Z(y/T —4) = 2 then find the sum of

27 - 9364339
roots of equation (A) 12 (B) 8 (C) 4 (D) 16
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Find the magnitude of projection of vector 27 + 35 + k, on
a vactor which is perpendicular to the plane containing
28 - 9364340 \/_ \/_

vectors ¢ + 7+ k and © + 25 4+ 3k (A) —

2+/2
V3

— D) —=

\/§
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